Vi e

—"

Algebra 1 Chapter 3 Pre-Test

1.) (5 pts each, 10 pts total) (3-1) Graph each of the following inequalities.
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2.) (5 pts each, 15 pts total) (3-2) Solve each inequality. Graph and check the solution.
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3.) (5 pts each, 20 pts total) (3-3) Solve each inequality. Graph and check the solution.
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4.) (5 pts each, 20 pts total) (3-4) Solve each inequality. Graph and check the solution.

a) 13t - 8t > -45
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5.) (5 pts each, 20 pts total) (3-5) Solve each inequality. Graph and check the solution.
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6.) (5 pts each, 10 pts total) (3-6) Solve each inequality. Graph and check the solution.
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7.) (5 pts each) (3-6) Solve the equation. i
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